2019-20 MAN 310 FINANCIAL MANAGEMENT MIDTERM PREPATORY QUESTIONS
1. Financial data of ABC Company related with its Working Capital is as follows;
	 
	2009
	2008

	Current Assets
	13915
	13395

	Cash & Equivalents
	1420
	520

	Acc. Receivables
	965
	975

	Inventory
	10200
	10700

	Other Current Assets
	1330
	1200

	 
	 
	 

	Current Liabilities
	9345
	9390

	Acc. Payable
	8185
	8220

	Notes Payable
	1160
	1170



What is Net Cash Flow from Changes in Working Capital? Notify whether cash inflow or Cash Outflow.
2. The share price of ABC Firm is 1,20 TL and The Company has 20000 shares outstanding.  If the Firm’s Fixed Assets Total is 28,000. If  the NWC (Net Working Capital) of ABC Firm is 4000; what is the Long-Term?
3. The Fixed Assets of XYZ Corp. (10 p)
				   
	XYZ  Corp.
	2010
	2009

	Net Fixed Assets
	4200
	???



If Cash Collection from sale of old Fixed Assets is TL 1350 and total depreciation expense is TL 1050 for the year of 2010, what is the total of Net Fixed Assets for the year of 2009?

4. What is the Net Income  of the Firm QRX?

	Income Statement of the Firm QRX ending Dec.31st,2000

	Net sales
	?

	Cost of goods sold
	(84,760)

	Gross Profit
	15.240

	Selling and Administrative Expenses
	(4,240)

	Depreciations
	(?)

	EBIT
	7,000

	Interest Expense
	(3.000)

	Taxable Income
	?

	Taxes ( 50%)
	(2,000)

	Net income
	?




5. If the numbers of common shares outstanding are 10,000 and the market price of each share is 2 TL; what is the Price Earnings Ratio (= Market Price of Each Share/ Net Income Per Share) of  the Firm QRX?






6. The financial data of ABC Corp. as follows:
	ABC Corp.
	2015
	2016

	Account Receivables
	600
	


If cash inflow for the year of 2016 is 150₺; the balance of Account Receivables is ……………₺
7. Cash Flow Statement of ABC Corp. as follows:
	ABC Corp.
	2015
	2016

	Cash & Cash Equivalents
	?
	900

	Net Change in Cash Position
	
	+500



Cash Flow Statement shows that Net Change in Cash Position is +500₺ for the year of 2016, in this case the Cash Balance for the year of 2015 is ………………………….₺;

8. Current Assets of Firm ABC is 12,000 and Fixed Assets 28,000. If Net Working Capital is TL 4,000 and Long-Term Debt 8000 what is the share price of the Firm? (The Company has 10000 shares outstanding)(10 p)
Current Assets	12000			0,25= Long-Term /( Long-Term+Equity)
Fixed Assets		28000			Long-Term= 32000*0,25 = 8000
	TOTAL		40000
       Short		 8000			Share Price = 24000/10000= 2,40 TL	
       Long		 8000
	       Equity	                  ?
			

9. Income Statement Financial Data of XXX Corporation for the year of 1994 are as follows:
Net Sales: ????;    Depreciations:????; Gross Profit: 33,600
Interest Payments: 2,400; Sales & Administrative Expenses: 4,800;  
Cost of Goods Sold: 62,400 and Tax Payment (35% of Taxable Income): 5040
Owing to the above data answer the followings?(10 p)

a. COGS (Cost of Goods Sold)  is  : 
b. Net Income is      :   
c. Net Sales is         :  
d. Depreciations is  :   
e. Taxable Income  :   

10. The Fixed Assets of XYZ Corp. (10 p)
		 
	XYZ  Corp.
	2010
	2009

	Net Fixed Assets
	4200
	???


If Cash Collection from sale of old Fixed Assets is TL 1350 and total depreciation expense is TL 1050 for the year of 2010, what is the total of Net Fixed Assets for the year of 2009?


11. If cash outflow for Notes Receivable is TL 26.000 and cash inflow for Notes Payable is 24.000; what is the Notes Receivable and Notes Payable balance for the year 2009? (10 p)

	
	2008
	2009

	Notes Payable
	76.000
	

	Notes Receivable
	76.000
	






12. The Financial Data of Blue Mediterranean Inc. As follows:  Fill the blanks!....
        
	Balance Sheet of Blue Mediterranean Inc. (1000)
	2005
	2006

	Cash
	24
	36

	Receivables
	48
	

	Inventory
	48
	

	Net Fixed Assets
	
	1080

	Total Assets
	
	

	Short Term Debt
	
	84

	Long Term Debt
	
	

	Shareholder’s Equity
	288
	

	Total Liabilities
	
	

	   
	
	

	
Balance Sheet Items
	
Decrease(-)/
Increase
	Net Effect 
over 
Cash Flow

	Receivables
	-24
	Cash Outflow

	Inventory
	-24
	Cash Outflow

	Fixed Assets
	-540
	Cash Outflow

	Short Term Debt
	12
	Cash Inflow

	Long Term Debt
	180
	Cash Inflow

	Shareholder’s Equity
	-12
	Cash Outflow



	Income Statement
	2004

	Net Sales
	2340

	(-) Cost of Goods Sold
	(1236)

	(-) Depreciations
	(420)

	EBIT
	

	(-) Interest Expense
	(288)

	Taxable Income
	

	(-) Taxes
	(138)

	Net Income
	




13. The Fixed Assets of XYZ Corp. 
				   
	XYZ  Corp.
	2004
	2003

	Net Fixed Assets
	2.800
	2.600



If Cash Paid for the purchase of new Fixed Assets is TL 900 for the year of 2004, what is total depreciation expense for the year? (10P)
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14. If cash outflow for receivables is TL 24.000 and cash inflow for inventory is also 24.000; what is the Receivables total for the year 2009 and what is the Inventory total for the year 2008? (10P)

	
	2008
	2009

	Receivables
	76.000
	?

	Inventory
	?
	76.000





15. If Corporate Tax Rate is 30% and Payout Ratio (=Dividends/Net Income) is 30% and Taxable Income of the firm is 10.000; what is the value of dividend payments? (10p)

16. Income Statement Financial Data of XXX Corporation for the year of 1994 are as follows:
Net Sales: 80,000;   Depreciations:????;
Interest Payments: 2,000; Sales & Administrative Expenses: 4,000; 
Cost of Goods Sold: 52,000 and Tax Payment (35% of Taxable Income)
Net Income: 7800
Owing to the above data answer the followings?

a. Taxable income is :
b. Gross Profit is  :
c. EBIT is :
d. Depreciations is :
e. Tax Payment is :

17. The data for ABC Inc. of  monthly  performance and ISE (Istanbul Stock Exchage) are as follows: 
	
MONTHS
	ISE Monthly YIELD %
	ABC Inc. Monthly YIELD %

	1
	14,1%
	19,1%

	2
	14,9%
	13,9%

	3
	-17,8%
	-18,7%

	4
	13,2%
	11,9%

	5
	16,1%
	17,7%

	6
	-17,4%
	-15,0%

	7
	13,3%
	15,0%



Calculate the BETA for ABC Inc.!. Show both the regression equivalent & Slope Function! 
There is no need for chart, but only the equivalent as y = ...X + ...    and     =SLOPE(..................) (10p)



18. Answer the followings by using the related data of ABC Corporation;
a. After tax Cost of Debt: (5p)
b. Cost of Equity: (5p)
c. WACC (Weighted Average Cost of Capital): (5p)

	ABC Corporation
	2009

	Current assets
	4.000

	Fixed  assets
	12.000

	Total Debt Ratio
	37,5%

	Short term debt
	1.200

	Long term debt
	?

	Equity
	?

	Interest Payment
	600

	Taxable Income
	6.000

	Net Income
	3.600




19. Considering Balance Sheet of ABC Co. ended on 31 Dec.,2000 fill the blanks!...
	Balance Sheet of ABC Co. ended on 31 Dec.,2000

	Assets
	 
	 
	 

	Current Assets
	
	?
	?%

	Cash
	 
	?
	3%

	Marketable Securities
	 
	765
	         ?%

	Accounts Receivable
	 
	?
	14%

	Inventory
	 
	2025
	45%

	Net Fixed Assets
	 
	?
	21%

	Gross Fixed Assets
	?
	 
	 

	Less: Accumulated Depreciation
	-405
	 
	 

	Total Assets
	 
	?
	100%

	 
	 
	 
	 

	Liabilities
	 
	 
	 

	Current Liabilities
	
	?
	56%

	Accounts Payable
	 
	1215
	         ?%

	Accrued Expense
	 
	315
	         ?%

	Notes Payable
	 
	990
	         ?%

	Long-term Debt
	 
	?
	?%

	Common Stock Equity
	 
	?
	34%

	Total Liabilities
	 
	?
	100%





20. Considering Income Statement of the Firm QRX ending Dec.31st,2000 fill the blanks!....
	Income Statement of the Firm QRX ending Dec.31st,2000

	Net sales
	?

	Cost of goods sold
	(84,760)

	Gross Profit
	15.240

	Selling and Administrative Expenses
	(4,240)

	Depreciations
	(?)

	EBIT
	7,000

	Interest Expense
	(3.000)

	Taxable Income
	?

	Taxes ( 50%)
	(2,000)

	Net income
	?



21. Considering Balance Sheet of ABC Co. ended on 31 Dec.,2000 fill the blanks.
Hint! 
* ABC Company has 20000 number of shares outstanding each is traded over 20 Krş in Stock Exchange
        ** Net Working Capital (=Current Assets – Current Liabilities) is 800 ₺?
	Balance Sheet of ABC Co. ended on 31 Dec.,2000

	Assets
	

	Current Assets
	?

	Cash
	400

	Accounts Receivable
	?

	Inventory
	?

	Net Fixed Assets
	2400

	Total Assets
	4000

	Liabilities
	

	Current Liabilities
	?

	Accounts Payable
	?

	Notes Payable
	500

	Long-term Debt
	1200

	Common Stock Equity
	?

	Total Liabilities
	?




















22. Considering Income Statement data of the Firm QRX, 2000, arrange Income Statement! 
	Income Statement of the Firm QRX, 2000

	Net income
	?

	Net sales
	?

	Depreciations
	?

	Taxable Income
	?

	Cost of goods sold
	-42380

	Gross Profit
	7620

	Selling and Administrative Expenses
	-3120

	EBIT
	3500

	Interest Expense
	-1500

	Taxes ( 50%)
	-1000



23. The share price of ABC Firm is 1,20 TL and The Company has 20000 shares outstanding.  If the Firm’s Fixed Assets Total is 28,000. If  the NWC (Net Working Capital) of ABC Firm is 4000; what is the value of Long-Term Debt?

24. Fill the blanks with appropriate words or phrases!
a. ……………………………….. shows the firm’s cash receipts and cash payments over a period of time.
b. If The financial data of ABC Corp. as follows:
	ABC Corp.
	2015
	2016

	Equity
	?
	3000

	Net Income
	
	600

	Payout Ratio (Dividend Payments)
	
	1/3


The value of 2015’s Equity is: ……………………


c. ……………………………….. is the financial statement that shows the firm’s assets and liabilities at a particular time.

d. The financial data of ABC Corp. as follows:
	ABC Corp.
	2015
	2016

	Account Receivables
	600
	


If cash inflow for the year of 2016 is 150₺; the balance of Account Receivables is ……………₺

e. ………………………………. Shows the revenues, expenses and net income of a firm over a period of time

f. CFO (Chief Financial Officer) aims to maximize  ……………………… value of the firm.




g. Financial Management uses Financial Statements which are the outputs of Accounting System for financial analysis of the firms.  So we can define simply; accounting is ……………………………. system, but finance is ………………………  management system. 


h. You have decided to put your money in the stocks for a return of +12%, but you searched history of returns in palladium investors expect to earn 15% return on this precious metal. What is the opportunity cost of precious metal?  ……………………………


i. The output of Accounting Process is ………………………………………………. that displays the financial performance of the firm


j. Cash Flow Statement of ABC Corp. as follows:
	ABC Corp.
	2015
	2016

	Cash & Cash Equivalents
	?
	900

	Net Change in Cash Position
	
	+500



Cash Flow Statement shows that Net Change in Cash Position is +500₺ for the year of 2016, in this case the Cash Balance for the year of 2015 is ………………………….₺;


25. ABC Corporation financial data as follows:.
	Current Assets 
	
	???

	Cash
	400
	

	Receivables
	4000
	

	Inventory
	???
	

	Gross Profit=Net Sales-COGS
	
	6,000

	1 Year = 360 days


If Current Assets Total 14400 & Inventory Turnover (= COGS/Inventory) is 3 what is the value of Net Sales?


